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Topological sort algorithm

 Consider vertices in topological order.
* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.
* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.
* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.
* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.

* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.
* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.
* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.
* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.
* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.
* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.

* Relax all edges incident from that vertex.
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select vertex 4
(Dijkstra would have selected vertex 7)
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Topological sort algorithm

 Consider vertices in topological order.
* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.

* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.
* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.
* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.

* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.
* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.
* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.
* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.

* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.

* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.
* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.
* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.

* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.

* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.

* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.

* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.

* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.

* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.

* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.

* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.

* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.

* Relax all edges incident from that vertex.
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Topological sort algorithm

 Consider vertices in topological order.

* Relax all edges incident from that vertex.
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